Tustiuths Inegqualties

How to ..

-3<n<1
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a) write down all the possible values of n.
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Now have a go yourself . ..

MUST:

write down the correct inequality sign between each pairs of
numbers

a)3...5 b)2..4 c)6...4
d)3.2..35 e)2.1..2.2 f)7..4.1
g)-3..- h) -7... -6 i)-2.2...—2.3
SHOULD: write down the possible integer values for x
a)-1<x<5 b)1<x<5 c)-2<x=<3
d)3<x<7 e)-1<x<3 f)-2<x<1
g)-3<x<3 h)-1<x<4 i)-3<x<3
COULD: - solve the following

a) 5x =2 15 b) 6x < 30 c) 4x = 16
d)x+4>11 e)x—-4<11 fyx+8>13
g)x—5>2 h)5x+2 =12 i)2x+4 > 16
j)5x -4 < 36 k) 3 x+4<7 D7x+7 =77

SUPERSTAR! - have a go at these
a) 7x —5<22 - 2x b) 3(2x-1) > 2x - 15

C) x+2<5x-7 d) 7(x = 5) = 2x
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Exam Questions

1. List all the possible integer values of n such that
-2<n<3

2. -2<x=< 1

X is an integer. Write down all the possible values of x.

3. Solve the inequality 6x < 7 + 4x

4. Solve the inequality 3x + 2 > -7

5. Solve the inequality 5x -7 < 2x - 1

6. Solve the inequality 4p-8<7-p
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